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The basic exponential graph 
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  can be translated vertically, 

horizontally, or both, or reflected
A VERTICAL translation by d


A SIDEWAYS translation by c
y = bx ± d







y  = bx ± c


Moves up +d, or down – d



Moves left + c, or right – c
Sketch   y = 2x + 3




Sketch   y = 3x – 2
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A vertical and horizontal 

shift can be combined

Sketch

1)  y = 3x – 2

2)  y = 2x – 1 

1) 






2) 






3)



Usually in the form y = A×bx
Determine the value of A and b

Find ‘A’ - maybe given in the question or from the graph (y –intercept)

Find ‘b’ – maybe in the question eg 25% increase means b = 1.25



Solving an equation if given a point


Eg. y = 240bx and when x = 10 y = 1486
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Ex 12.05





Exponential translations


























Write the equations for these graphs




















Exponential Applications
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